
1)
Find the next three numbers in 
the sequence
56,48,72,64,88,80,104__,__,__

Answer: ____________

2) A number is chosen at random from 1 
to 75. Find the probability of selecting 
factors of 18.

Answer: ____________

3) Convert the following mixed number 
143/15 into an improper fraction.

Answer: ____________

4) Find area of triangle 
a = 3819 in, b = 
8025 in

Answer: ____________

5)
38  Find Volume of 
               34       Cylinder 

Answer: ____________

6) 125/18 ÷ 76/14

Answer: ____________

7) Find perimeter of 
rectangle having 
sides a = 7308 cm 
and b = 1390 cm

Answer: ____________

8) 3528 ÷ 72

Answer: ____________

9) 3528 ÷ 72

Answer: ____________

10) Convert the following mixed number 
382/4 into an improper fraction.

Answer: ____________

11) Find the percentage change from 150 
to 498

Answer: ____________

12) (-2028) ÷ (-52)

Answer: ____________

13) Solve by factorising 
x2 - 5x - 14 = 0

Answer: ____________

14) Find the median of the following set of data:

30, 4, 40, 6, 5, 14, 36, 9, 4, 40, 16, 
17, 26, 29, 29, 3, 40, 6, 21, 26

Answer: ____________

15) 1899 + (-3691)

Answer: ____________
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16) Write 7 x 105 as a normal number.

Answer: ____________

17) Write 800000000 in standard form.

Answer: ____________

18) Find the value of 'd' by completing 
the square of the following equation: 
2 + 6d + 9

Answer: ____________

19) 63/17 ÷ 391/2

Answer: ____________

20) Decrease 242 by 5/121

Answer: ____________

21) 58.4 x 11.2

Answer: ____________

22) 8123.2 - 6032.4

Answer: ____________

23) (3 x 63) + (1 x 92)

Answer: ____________

24) Find the percentage change from 150 
to 327

Answer: ____________

25) Factorise 2f2 + 21f + 19

Answer: ____________

26) Simplify 66:31

Answer: ____________

27) (3 x 23) x (6 x 3-2)

Answer: ____________

28) Round 1.24344 to the nearest 10000

Answer: ____________

29) 2862 x 5637

Answer: ____________

30) Find the median of the following set of data:

10, 12, 27, 39, 31, 21, 2, 12, 13, 18, 
8, 24, 25, 11, 23, 38, 4, 8, 6, 16

Answer: ____________
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31) (-1825) - 2464

Answer: ____________

32) 17.9 x 92.3

Answer: ____________

33)
37  Find Volume of 
                         Pentagonal Pyramid 

32
32

Answer: ____________

34)
39  Find Volume of 
               31       Cylinder 

Answer: ____________

35) Round 29.87019 to the nearest 100

Answer: ____________

36)
38  Find Volume of 
               33       Cylinder 

Answer: ____________

37) A number was shared in the ratio 
8:3. The smaller share was 66. What 
was the total amount shared?

Answer: ____________

38) Find area of 
triangle 
a = 1940 m, b = 
2646 m

Answer: ____________

39) Find the median of the following set of data:

35, 20, 16, 27, 16, 29, 18, 36, 9, 38, 
26, 12, 3, 36, 24, 8, 33, 7, 20, 19

Answer: ____________

40) 1813 ÷ (-49)

Answer: ____________

41) Convert the following fraction into a 
mixed number: 69/38

Answer: ____________

42) Find the range of the following set of data:

12, 15, 6, 0.7, 12

Answer: ____________

43) 31/20 + 5/19

Answer: ____________

44) 1264.4 - 7376.5

Answer: ____________

45) An amount was decreased by 6% to 
$58.00. Find the original amount.

Answer: ____________
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46) Find the range of the following set of data:

-0.6, 0.3, 4, 6, -14, 18, 14

Answer: ____________

47) 1358 ÷ 14

Answer: ____________

48) 1358 ÷ 14

Answer: ____________

49)

A = 61  B
Find the Angle at side B.

Answer: ____________

50) 5418.7 - 6048.8

Answer: ____________

51) Round 28.2914891419 to 9 decimal 
places.

Answer: ____________

52) Round 28.2914891419 to 9 decimal 
places.

Answer: ____________

53) Round 28.2914891419 to 9 decimal 
places.

Answer: ____________

54) 5/91 of 182

Answer: ____________

55) Find perimeter of 
rectangle having 
sides a = 9785 ft 
and b = 9748 ft

Answer: ____________

56) Factorise x2 + 12x + 20

Answer: ____________

57) 7649.4 - 8987.6

Answer: ____________

58) 'What is the probability of rolling a 
multiple of 3.when rolling a dice

Answer: ____________

59) 'What is the probability of rolling a 
multiple of 3.when rolling a dice

Answer: ____________

60) (9 x 65) x (2 x 22)

Answer: ____________
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61) 53% of 382

Answer: ____________

62) 194/6 x 201/2

Answer: ____________

63) Simplify 77:40

Answer: ____________

64) Simplify 77:40

Answer: ____________

65) 5199 - (-4312)

Answer: ____________

66) Round 19.2896093264 to the nearest 
whole number.

Answer: ____________

67) Round 19.2896093264 to the nearest 
whole number.

Answer: ____________

68) Solve 20d2 + 16d - 10 = 0
Round your solutions to 1 decimal 
place.

Answer: ____________

69) (-5294) + 2781

Answer: ____________

70) 19800 ÷ 720

Answer: ____________

71) What would you multiply by to 
decrease an amount by 35%?

Answer: ____________

72) Round 1.189382845918395 to 7 
significant figures.

Answer: ____________

73) 01:34 am To 10:25 am

Answer: ____________

74) 8244 - 7419

Answer: ____________

75) 63669.6 ÷ 888

Answer: ____________
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76) A number was shared in the ratio 
3:53. The smaller share was 72. 
What was the total amount shared?

Answer: ____________

77) Find area of square 
having each side (s)
equals 4540 in

Answer: ____________

78) 6/35 of 70

Answer: ____________

79) 6/35 of 70

Answer: ____________

80) 6/35 of 70

Answer: ____________

81) What would you multiply by to 
increase an amount by 65%?

Answer: ____________

82) (10 x 27) + (9 x 57)

Answer: ____________

83) Simplify 92:91

Answer: ____________

84) Write 0.001 in standard form.

Answer: ____________

85) Solve by factorising 
q2 + 15q + 14 = 0

Answer: ____________

86) 4392 + (-5877)

Answer: ____________

87) Factorise 6f2 + 59f + 19

Answer: ____________

88) 7029.6 - 8738.5

Answer: ____________

89) 4293 - (-9113)

Answer: ____________

90) 8378 + 8630

Answer: ____________
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91) Decrease 245 by 12%

Answer: ____________

92) 123/7 ÷ 181/2

Answer: ____________

93) 40/11 - 27/9

Answer: ____________

94) 11 x 100

Answer: ____________

95) (4 x 46) + (9 x 89)

Answer: ____________

96) Find area of 
triangle 
a = 5620 in, b = 
8398 in

Answer: ____________

97) 'What is the probability of rolling a 
multiple of 6.when rolling a dice

Answer: ____________

98) Round 11.6468 to the nearest 10000

Answer: ____________

99) 39/8 x 7/4

Answer: ____________

100) A number was shared in the ratio 
5:79. The smaller share was 30. 
What was the total amount shared?

Answer: ____________

Total: ___ / 100
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Answers:

1) 96,120,112, 2) 0/1 3) 71/5 4) 6315386.7670623in 5) 34500.970521723 6) 147/72 7) 17396cm

8) 49 9) 49 10) 77/2 11) 232% 12) 39 13) x = 7 or -2 14) 28

15) -1792 16) 700000 17) 8 x 108 18) (d + 3)2 19) 210/1343 20) 232 21) 654.08

22) 2090.8 23) 729 24) 118% 25) (2f + 19)(f + 1) 26) 66 : 31 27) 16 28) 1.2434

29) 16133094 30) 13 31) -4289 32) 1652.17 33) 21728.482584505 34) 117743.75106389 35) 29.87

36) 130005.38719085 37) 242 38) 1629686.6048416m 39) 32 40) -37 41) 131/38 42) 14.3

43) 1309/380 44) -6112.1 45) $54.52 46) 32 47) 97 48) 97 49) 119

50) -630.1 51) 28.291489142 52) 28.291489142 53) 28.291489142 54) 10 55) 39066ft
56) (x + 2)(x + 
10)

57) -1338.2 58) 1/3 59) 1/3 60) 559872 61) 202.46 62) 4031/6 63) 77 : 40

64) 77 : 40 65) 9511 66) 19 67) 19 68) d = 0.4 or -1.2 69) -2513 70) 27.5

71) 0.65 72) 1.189383 73) 08 Hours 51 Mins 74) 825 75) 71.7 76) 1344 77) 20611600in

78) 12 79) 12 80) 12 81) 1.65 82) 704405 83) 92 : 91 84) 1 x 10-3

85) q = -1 or -14 86) -1485 87) (2f + 19)(f + 1) 88) -1708.9 89) 13406 90) 17008 91) 215.6

92) 174/259 93) 7/11 94) 1100 95) 1207975936 96) 13676446.381645in 97) 1/6 98) 11.6468

99) 817/32 100) 504
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